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We follow its perforation - J199IR 2P N2

Overview

»aX ruled that if there was an 211 y°x¥¥, whose perforation was in 9872 y9R, however
the branches extended into yX? v, we look at the 2p3, and since the 2p1 is in "R, it
is wyna 2Mnn. Our MooIN contrasts the nourishment received through the
perforation with another type of nourishment.

- 229593 139NV YO8V 1VIN INYHTA (. nop pon) AVINNY NYNA IINT INRY
According to the one who maintains in 2w W 279 regarding a squash,

which is planted in a non-perforated Y>3y -
= 59902 NNVNI INNMIVA RNV 3\ISYD NIN NN

And part of the squash extended outside of the y°xv, the X»v retains its R@™W

status, and the =177 retains its 7977W status; according to this 7" -
= NIND N1 19101 NIND NYINA I8Y ON P90 NN

The same ruling will apply if the y>3¥ is in "'y and its branch extends into >'"'X -
- UYNA 29N 159 993 PIYY 919N NPYS 2T

That the nourishment of the branch from "X will be effective regarding this

branch itself that it is 9w 297, but not the part that is within the y>xv -
- UMY NP3 910 NP XWN KY 50991 Yan

Nevertheless the n1177 nP510 is not as significant as the nourishment of the root -
19PN NP2 HNNN 913 2NN NN NIEYN TINAY 113 9130 NP N7V XY NN

For the n1377 NP2 does not bestow 779772 on what is growing within the y92w, only
on what grows outside the y°xv, however here the n1 is obligated in "wy» on

! The n"271 M3 amends this to read 7w mwepa (instead of 1017 NY772).
2 An 2191 KW 7%V is not considered ¥ppY 72w, therefore anything which grows within this 7°X¥ can be nxmw 2pn
like all foods which are detached from the ground.
3 Regarding the part of the plant that extends outside of the y°%¥, we consider it as if it is nourishing from the earth,
and it is Ypp 727, so it cannot be RM™IL Yapn.
4 This (pynw "27) 7"» maintains that the part of the plant that is within the y>¥v is 7%mv 73pn, and the part that extends
outside the y>¥¥ is not xmw 2pn. The 07> argue with w"1 and maintains that everything is 7177w, See ‘Thinking it
over’ # 1.
5 In our X773 the ruling is (according to »2x) that since the y>¥y is nourishing from the ground of *"x, the entire plant
is 7wyna 211, even the part that is extending out of the y°%¥ into 2" (and receiving nourishment from there). However
regarding the 211 WRw ¥y, the nourishment of the branches outside the y°x¥ from the ground, only makes the
extended part Yp1p? 1211, but not the rest of the plant that is within the y°xv. Seemingly in both cases they are receiving
nourishment; why by an 2301 y>xv does it effect the entire plant but by the 211 11°X the nourishment of the branch does
not affect the entire plant. M50 responds to this difficulty. See ‘Thinking it over’ # 1.
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account of the nourishment of the main part of the plant.

Summary
The nourishment that the plant receives from the ground by an 2171 y°Xv is greater

than the nourishment it receives from the ground through its branches.

Thinking it over
1. mooIn finds it necessary to distinguish between the ruling of »aX (that the entire

YOXY is Ww¥na 21nn), and the ruling in P21 (by w'") that only the extended part is
considered 72 (or is Wwyn2 21mn).* However the oon disagree with w1 (there)’
and maintain that the entire y°xv is 170 (and will be "wyna 2171); why is it necessary
to reconcile »ax with a 7> ny72!8

2. X121 argues with 2R and maintains that 17718 1911 902 and it is w5 However
according to mdoIN that wWa NP is stronger than M7 NP, so if the 0°»on
maintain’ that we follow 71177 Np>2, so in our case of 2371 7°¥¥ we should certainly
follow wwn np>», and it should be wyna annn! 0

% See footnote # 5.
7 See footnote # 4.
§ See ywim "1,
% See footnote # 4
10 See X"wAmn and ywyT 210,
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